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BRATS  BEAH EERZH BREH
- fmER - fEER BER
e b 2k 5 . Eih HEE aiE BE |En]  (HE Eth HEE pi:br ] HE |me| g=
RREUR @2 i £33 44454 100| 1@ =5 5t 50| &
Eih HEE A HE ppy (BB 10 1Ry, Lyast 800| 1& B s bua, 4145 300| {&
R EEAN [¥EF3'3k 100| {& Eirn m4a 200| kg & 1R 50| {&
fiR{E 100| 1@ EHERS [AF5 100| & = ¥ Yy1hst 50| {&
X5 R INFI47Y3k 300/ & 2B AUk 5 100| {& FET] 50| &
2 vy 300| 1@ I 143+ & = 1R 50| {&
alist KF47V4k 700| & IMER @ BB I AF V451 &
FIE £IE KP4k & fIgsid N5 100| 1& 5 4,000 &
= HIE TIHN6~8A 200/ 1@ bef 208 200| ke
W3 200| 1@ Bk YOEUES 100| & EHEEME
JF7Y5k 150| {& & FES FENESH 100| kg #5E—=
R Yv74+ /NPy 15k @ KiR Wwadh)) 50| &
1IN & iR HBANA & Eth HEE i HE |me| EE
it 2050 & ]} K7y  |AR%5 50| {& BN EVEELL E - 321 3,900| #%
FE ZHI FIVE S 50| & A% 100[ &
EEE_M =%l TR Fh'y+ 100| & ERES [Frast ‘Ehon'y 1,000( &
BiE—iE HEH 50| & Koo |RARSN (BT 150| &
V47 @ B2 100| &
Eih HEE aiE BE g EE O |= RIE & REA S ERN BINTY 500 #
EES BHE HL 1,000 kg BERS BE5 A 100| 1& gEN REMKS (LSS 700| 4%
Tt 150( ke = I KEZE FNIYE @ 5 1,350 &
REX S =HN T7HY 150| {& Ah'yt @ 5,100 #
hiEst AXBSN [EIt 80| kg H 950 kg
BESN EB ) 7% 60| {& 3,050 {& A5 4,780 ke
U3 =) = 1,000| #% 9,310 &
RES IR -t _ 1,000( #% a5 1,350 &
5 1,230 kg 7,100 #
210 {& Eih HEE iz BE |ml EE
2,000 # Eig =k B 500 ke
SIERER  |FEETAN 50| kg
BEE= KI5 EM. A5 400| kg
ke B X &, s 200( kg
B kst 500 ke
i HEE iz ME |we| {EFE IMEE FEfat's 50| kg
X5 Wkn woR 95 100| {8 payd &Y 100| ke
BAIA 200| 1@ X5 ES EAR R 100| kg
ES &4 100| kg BR FEAVT15 kg
X254 @ 12 xR BAR%, 3t 300| kg
%] el 300| kg =3 FEEThynst 200| kg
R hiE ETHY 50| kg =E] UE BT 200 ke
REA HF0LHE | FEWLH 100| {8 5 2,600 ke
Bt ¥4 &
R EXES  [YU1h, 75 100| & nE
L5 YU4h, FLYS 150| 1@
IR YU4h. 525+ 100| 1@ Eih HEE iz HE |wa]  (HE
e Fiirfid Yy4hst 100| {& 12 itk | N5 2,000| 1@
FE IR 100| 1@ Ein 400| 1A
WS 100| {8 'S 400| {&
b FhY. h7°4 100| {& fnidgist 400| 1A
=W £33, 4m5t 100| 1@ HE 795 150| 1&
&R E3R. 74 100| 1@ EA ) 3245 100| 1@
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